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Sketch the graph of each line.

1) x-intercept =—1, y-intercept =4 2) x-intercept = 2, y-intercept = —5

A A
6 &
5 5
4 4
3 3
2 2
t t
< > < >
-6 45 4320 432410
=2 =2
=3 =3
=4 =4
=5 =5
=6 =6
Y Y

3) x-intercept = —2, y-intercept = -2

4) x-intercept =5, y-intercept = —3

A A
Tk B Dbdio 6 - 4 B3 Dhdio .
Y Y
5) x-intercept = 1, y-intercept = -3 6) x-intercept = -5, y-intercept = 2
A A
Tl ds B b dio LT b 4 3 b dio i
Y Y

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
-1-




7) x-intercept = 4, y-intercept = 2

L.

\

oL A S NP R~ )

A

9) x-intercept = -2, y-intercept = 1

=3
o

Y

=Z

=3

=J

4

L.

\

N W B th

A

—
o

Y

b

&b

Jh l.ln ls

-
<

11) x-intercept = 3, y-intercept = —4

L.

\

N W B th

A

—
o

Y

b

&b

Jh l.ln ls

-
-«

8) x-intercept = -5, y-intercept = —1

L.

\

- W B th

A

10) x-intercept = —4, y-intercept =3

=3
(=]

I
p

&b

éh l.Ih is

-

L.

\

- W B Ut

Y

A

12) x-intercept = 2, y-intercept = 1
\

—
=)

| | |
‘t!r\ ) -!h w o

-

- W B Ut

Y

A

—
(=)

b

|
w

& & K

-
-

Y

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
-2-



13) x-intercept = —4, y-intercept = 4 14) x-intercept = —5, y-intercept = —2
\ \

L.
L.

- W B th
- W B th

A
Y
A
Y

|
=)
|
W
|
-
|
w
|
%]
|
=
=]
A
|
=)
|
W
|
-
|
w
|
%]
|
=
=]

I
p

I
p

&b
&b

éh l.Ih is
éh l.Ih is

-
-
-
-

15) x-intercept =5, y-intercept =3 16) x-intercept = —4, y-intercept = —1
\ \

L.
L.

- W B Ut
N W B th

A
Y
A
Y

|
=)
|
W
|
-
|
W
|
%]
|
—
=
e
=2
|
=)
|
W
|
-
|
W
|
%]
|
—
=]

b

&b

Jh l.ln ls

| | |
‘t!r\ ) -!h w o

17) x-intercept = 2, y-intercept = 2 18) x-intercept = —1, y-intercept = 1
\ \

.
.

- W B Ut
- W B Ut

A
Y
A
Y

|
>
L
W
|
ESY
L
w
|
[
L
=
=)
e
o
|
>
L
W
|

4 B3 D

—
=
e
=2

| | |
t!r\ ) -!h w o
| | |
t!r\ ) -!h w o

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
-3-



19) x-intercept = -5, y-intercept =5

L.

\

- W B th

A

=3
=]

Y

I
p

&b

éh l.Ih is

-

21) x-intercept = —2, y-intercept = —5

L.

\

N W B U o

A

—
=]

Y

|
N

|
w

hls

|
“

&

-

23) x-intercept = 5, y-intercept = —1

A

L.

\

N W B th

—
o

Y

b

&b

Jh l.ln ls

-
-«

20) x-intercept = 1, y-intercept = —4
\

L.

oL A S NP R~ )

A

|
=)
|
W
|
-
|
w
|
%]
|
=
=

22) x-intercept = —3, y-intercept = 5

L.

\

- W B Ut

A

Y

Y

|
=)
|
W
|
-
|
W
|
%]
|
—
=

| | |
‘t!r\ ) -!h w o

24) x-intercept = —3, y-intercept = -3

L.

\

N W B th

A

|
=)
|
w»n
|
-
|
W
|
%]
|
—
(=]

b

&b

Jh l.ln ls

-
-«

Y

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
_4-



25) x-intercept = —1, y-intercept = —4

L.

\

[ SR - ¥ CRR - S .

A

27) x-intercept = 4, y-intercept = -3

—
=]
I

I
3+

I
w

L

I
"

&

L.

\

N W B th

Y

A

29) x-intercept = 3, y-intercept = 4

A

—
o

b

&b

Jh l.ln ls

-
<

.

\

- W B Ut

Y

—
=
e

| | |
‘t!r\ ) -!h w o

Y

26) x-intercept = 2, y-intercept = —2
\

L.

oL A S NP R~ )

A

|
=)
|
W
|
-
|
w
|
%]
|
=
=

28) x-intercept = —4, y-intercept = 5

L.

\

- W B Ut

A

Y

Y

|
=)
|
W
|
-
|
W
|
%]
|
—
=

| | |
‘t!r\ ) -!h w o

30) x-intercept =5, y-intercept =4
\

-

- W B Ut

A

|
[
|
w
|
=
|
w
|
[38]
|
—
(=]

b

|
w

& & K

-
-

Y

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-
-5-



1))

A

b B
Y

4)

Y

A

\

7)

. _&
> -

=3}

Y

A

10)

A

13)

Y

Y

A

2)

Y

5)

8)

A

B

(54

Y

A

> <

D ‘JN\ b o

Y

A

11)

,_

Y

A

14)

Y

A

}/

3)

A

Y

6)

Y

A

Il

9)

A

Y

(5%

L

12)

&

(=)

£y

(S

A

15)

Y

Y

A

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-



16)

Y

A

19)

Y

22)

Y

A

25)

A

28)

Y

Y

A

You may use this math worksheet as long as you help someone learn math. -> MATHX.NET <-

17)

Y

A

20)

Y

A

23)

Y

A

A

26)

Y

A

29)

Y

A

18)

A
/
< 2,/ d >
3 -4/ y. —g IR
/ =¥
/
21) A
\\ )
<% 4 Xo I
A
Y
24) A
\\ 5
- \ -
1 \Ko Y 67
BN
SN\
Y
27) A
% 4 Lo A 6
[/
,_‘Q
30) A
<6
2 1
Lk U 2o 1IN






